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Results from generator 1.

2009 cleo
1~ decays

2017-09-11 12: 20: 26

e Total number of analyzed decays: 10000000

e Number of decay channels found: 32

Resultsfrom generator 2.

TAUOLA-FORTRAN/tauola-bbb cleg
1~ decays

2017-09-20 18:57:21

e Total number of analyzed decays: 10000000

e Number of decay channels found: 32



Found decay modes:

T — 1 enmy,| | 0.0498+ 0.0007% | 0.0504-+ 0.0007% | 0.00000
T -y, | 0.0403+ 0.0006% | 0.0403+ 0.0006% [ 0.00000

1 —KIK2mv, [ 0.0374+0.0006% | 0.0380-+ 0.0006% | 0.00000
1 - KZKPv, [ 0.0370+ 0.0006% | 0.0386-- 0.0006% | 0.00000

Decay channel Branching Ratiot Rough Errors Max. shape
Generator #1 | Generator #2 dif. param.

| T — 10 0V | 25.2988+ 0.0159%)] 25.3225+ 0.0159%]| 0.00000 |
| T — VgV | 17.0371+ 0.0131%] 17.0275+ 0.0130%| 0.00000 |
| T — ViVeE | 15.2588+ 0.0124%| 15.2743+ 0.0124%]| 0.00000 |
| T — TV | 11.1820+ 0.0106%| 11.1811+ 0.0106%]| 0.00000 |
| T — 1 OV, | 9.1199+ 0.0095% | 9.0030+ 0.0095% | 0.00000 |
| T — T T TV | 8.8886+ 0.0094% | 8.9987+ 0.0095% | 0.00000 |
| [t —>mmnmdv] | 45346+ 0.0067% | 4.5381+ 0.0067% | 0.00038 |
| T — WiVe€ | | 2.84464+ 0.0053% | 2.8359+ 0.0053% [ 0.00000 |
| T =y, | 1.0104+ 0.0032% | 1.0014-+ 0.0032% | 0.00000 |
| T —K v | 0.7181+0.0027% | 0.7157+0.0027% | 0.00000 |
| T — WV | 0.5753+0.0024% | 0.5753+ 0.0024% [ 0.00000 |
| T =K | 0.5101+ 0.0023% | 0.5043+ 0.0022% | 0.00000 |
| T — K 1y | 0.4624+ 0.0022% | 0.4507+ 0.0021% | 0.00000 |
| T — K3 vy | 0.4449+ 0.0021% | 0.4456+ 0.0021% | 0.00000 |
| T — 1 KDV | 0.4409+ 0.0021% | 0.4545+ 0.0021% | 0.00000 |
| T — 1 KPPy | 0.2781+0.0017% | 0.2777+0.0017% | 0.00000 |
| T — KIr iy | 0.2745+0.0017% | 0.2767+0.0017% | 0.00000 |
| T — N v, | 0.1727+0.0013% | 0.1704+ 0.0013% | 0.00000 |
| 1 —KK'mvy] | 0.1518+0.0012% | 0.1505+ 0.0012% [ 0.00000 |
| T — T W | 0.1307+0.0011% | 0.1314+ 0.0011% | 0.00000 |
| T ommrnmy | 0.0904+ 0.0010% | 0.0908+ 0.0010% | 0.02572 |
| T — K KPlv, | 0.0768+ 0.0009% | 0.0767+ 0.0009% | 0.01143 |
| T — KIm KDy | 0.0759+ 0.0009% | 0.0733+ 0.0009% | 0.00000 |
| T — K KZrlv, | 0.0759+ 0.0009% | 0.0761+ 0.0009% | 0.00666 |
| T — K Py | 0.0511+ 0.0007% | 0.0488+ 0.0007% | 0.00000 |
| T — K K | 0.0509+ 0.0007% | 0.0511+ 0.0007% | 0.00000 |
| T — K Ky, | 0.0501+ 0.0007% | 0.0504+ 0.0007% | 0.00000 |
| |
| |
| |
| |
| |

T — T T Oy | 0.0301+ 0.0005% | 0.0302+ 0.0005% | 0.00178




Similarity coefficients: T1=0.295711 %, T2=0.003514 %
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1 Decay Channel: 1~ — 1 10V,

Number of events fromyenerator 12529880(scaled to generator2)
Number of events fromyenerator 22532250
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2 Decay Channel: 17 — vy
Number of events frongenerator 11703706
Number of events fromenerator 21702748(scaled to generatorl)
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3 Decay Channd: 17 — v{vee™
Number of events frongenerator 11525881(scaled to generator2)
Number of events fromyenerator 21527425
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4 Decay Channd: 1= — 11 vy

Number of events frongenerator 11118198
Number of events fromenerator 21118111(scaled to generatorl)
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5 Decay Channd: 1~ — 11 TP10v,

Number of events fromgenerator 1911994
Number of events fromenerator 2900297(scaled to generatorl)
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Comparson of Mass(l) o 0 pO n chamnel @ => p po O @ | SDP
£ 0
el 8000
E 70001
£
i 60001
o3t 5000
06 ; 4000t
F 3000
04—
F 20001
e 10001
% P D‘Z ' 04 — 0.‘6 — D‘B — ‘1 0
Comparion of Mass(h) o 0 nu_au m channel @ p popO @] SDP
0
1af *; 70001
v —6000!
- ~5000!
osE- —40001
osE- <3000
0sf- —20001
02f é 10001
° 2 02 0‘4 D‘S D‘B “1 - o
Comparson o Wasst) f p 0 0 e charme = papamiar | Spp 5
2 o i
i 1 800
08— ]
o -l600
0.6 } :
F 400
04 ]
0o 200
007 D‘Z 0‘4 0‘6 D‘Q 2‘[ ] O

6 Decay Channd: 1= — 1w 1T TtH Vv

Number of events fromgenerator 1888863(scaled to generator2)
Number of events fromenerator 2899874
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Gomparison o ass(1) of p e chamel @ = p prpe s | Spp [ Comparison of Massii) of pi- piv n chammel - = pi-i-pr- mau |/ SDP
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7 Decay Channd: 1~ — 1T 10 10 1OV

Number of events fromyenerator 1453455(scaled to generator2)
Number of events fromenerator 2453811
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8 Decay Channel: T~ — WqVe€™

Number of events fromgenerator 1284457
Number of events fromenerator 2283591(scaled to generatorl)

13



Comparison of Mass(1) of gamma nu_tau in channel tau- => gamma nu_taunu_e~e- | §DP [ omparison of Mass(2) of gamma nu_e- in channel tau- => gamma nu_taunu_e~e- | §DP

I

N
a
=]
=3

T

°

g i 45000 ioF 45001
1] 4000 ] 40001
2] 3500t 1oFd 35001

s 30001 A 30001

i

o 20000 F [ 20001
H 5000 L 15001
“H 10001 e L 10001
e 5000 02 ey 5000
of——— D‘Z — 0‘4 — ‘7707.‘6 = 0‘8 B ‘1 ' 0 o——— Dv‘Z — 0.‘4 = 0‘67 E— D.‘E S ‘1 ' O
Comparisonof ase1) o gamma - chammel > gammani_tawmi e+ | SDP 5 [[Comparson of Mass(h of . tau o mchamel - > gammano e o] Spp
= 0 5Ho r 0 1000t
F 220 16 e ]
= 200 E - B
i 180 : . 18000
160 e -+ 1 ]
el 140 = Jnn A —6000
E 120 08 1@ ]
wE 100 S 4000
F 80 oo ]
15 E T ]
H & e —2000
05T 38 o2 ]
U: = 0‘2 - 0‘11 “ 0‘6 e O‘B e ‘1 0 UO; D‘Z O‘A 0‘6 ;0
Comparson of Massd)of mtau - channel s > gammano_aumi_e—s___ | §DP. [ Comparson o Mass(d) of e e chamnet v = gammamtwumieo-___| §pp
s 0 12001 10001
T 12
14 0o

10001 8000

8000

08

T aan
%
1
H\
1
§
r
T
I

6000

osf- ; 6000 .
osF- £ 4000
g / 4000 o,
04— E
b 2000 o 2000
B 0 % 0
Compaon ey T s et e > e s | SDP [ compaona Wassy ot g o et = g mms-e | SDP
0 0
oL Jlo00 12001
L ] 2 ]

1} jBOOO 18 —1000t
oy o000 e 8000
osF- ] 2 16000

g 4000 1
0l ] o —4000
02| 2000 2000
£ ] o2 1
% -0 % —0
Conpaion ety a A e+ et = e mims-s | §DP [ comparsona wassy o e marare > ganmammiris- s | SDP 3
F 0 1000 E o 1f
F 7 16— - 4
v ] E —120
i_uijw o -18000 e 1

o s ] i —100
oak- A4 1 16000 o 80
06— T 1 ] o8 ;7 3 60

: ; . Jaooo | F 1
04— a4 7] E —40
L F H B 04— ]
b - L | je0 E REE™
o 1 ‘;0 R o a5 o5 1 —0

14



P ol

3
o
i " 250
ot ~200
oof ~150
ok ~100
ool “50
n:wwwwwwwwwww;w:o

9 Decay Channd: 1~ — 1 0,

Number of events fromgenerator 1101041

Number of events fromenerator 2100142(scaled to generatorl)
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10 Decay Channel: 1= — K7

Number of events fromgenerator 171813
Number of events fromyenerator 271575(scaled to generatorl)

[ Comparison of Mass(1) of K- nu_tau in channel tau- => K- nu_tau | sop
12 0 |
r 1 =70001
E 60001
“r {50001
os- 40001
F =3000¢
04— J
r —2000!
02— E
r —1000(
o o5 0

11 Decay Channel: T~ — yvy~

Number of events frongenerator 157532
Number of events fromenerator 257528(scaled to generatorl)
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12 Decay Channel: T — K11 1T Vq

Number of events frongenerator 151006
Number of events fromenerator 250431(scaled to generatorl)
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Comparison of Mass(1) of K- pi- in channel tau- => K- pi- pi+ nu_tau
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‘Comparison of Mass(1) of K- pi-pi+ nu_tau in channel tau- => K- p- i+ nu_tau | sop
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13 Decay Channel: 1T~ — K~ 10v;

Number of events fromgenerator 146241
Number of events fromyenerator 245073(scaled to generatorl)

[ Comparison of Mass(1) of K- pi0 in channel tau- => K- pi0 nu_tau | sop [ comparison of Mass(1) of K- nu_tau in channel tau- => K- pi0 nu_tau | sop
35— 0 3 E 0
N 1800 4000
g E iigg: g 3500
25F 3 2
g —1200! g 3000
i “10000  F 2500
1sE 18000 F 2000
E a 1=
£ —6000 c 1500
E —4000 b 1000
osE —2000 g 500
007 0.2 0.4 0.6 08 1 70 00 0.2 0.4 0.6 0‘8 ‘1 O
Comparison of Mass(@) of 0 nu_tau in channel @u- = K- pOnu_tau___| SDP [ Comparson of Mass(a) of K- 0 nu_tau nchannel taw- = K- po mtas____| SDP
a5 0 2 0 50001
E 4000 F .
¥ 3500 T 40001
25 3000 0l ]
o 2500 F —30001
. 2000 F E20001
E 1500 04— ]
1 C ]
g 1000 ol “1000!
3 500 F ]
07 D‘B ' ‘1 0 07 D‘Z ' 0.‘4 0‘6 D‘E ‘1 70

14 Decay Channel: T~ — K2 v,

Number of events fromyenerator 144486(scaled to generator2)
Number of events fromenerator 244563
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15 Decay Channel: T~ — 10 K['V¢
Number of events fromgenerator 144087(scaled to generator2)
Number of events fromyenerator 245446
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16 Decay Channel: T~ — 1 K v,

Number of events frongenerator 127814
Number of events fromyenerator 227769(scaled to generatorl)
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17 Decay Channel: 1~ — K2 v,

Number of events fromaenerator 127449(scaled to generator2)

Number of events fromyenerator 227671
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18 Decay Channel: T~ — nm vy

Number of events frongenerator 117275

Number of events fromenerator 217045(scaled to generatorl)
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19 Decay Channel: T~ — K-KTmm v,

Number of events fromgenerator 115178
Number of events fromyenerator 215048(scaled to generatorl)
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20 Decay Channel: 1T~ — 1 TPV,

Number of events fromgenerator 113068(scaled to generator2)
Number of events fromenerator 213138
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21 Decay Channel: 1~ — 1t T 1m0V

Number of events fromgenerator 19036(scaled to generator2)
Number of events fromyenerator 29081
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22 Decay Channel: T~ — K=K,

Number of events frongenerator 17677
Number of events fromenerator 27671 (scaled to generatorl)
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‘Comparison of Mass(1) of K- pi0 nu_tau in channel tau- => K- K_LO pi0 nu_tau | sop [ comparison of Massi( of K_LO pi0 nu tauin channel tau- => K- K_LO pi0 nu_tau | sop
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23 Decay Channel: T~ — K2t KPv,

Number of events fromgenerator 17594
Number of events fromenerator 27333(scaled to generatorl)
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24 Decay Channel: T~ — K~ K3y,

Number of events fromgenerator 17592 (scaled to generator2)
Number of events fromenerator 27606
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‘Comparison of Mass(1) of K- K_S0 in channel tau- => K- K_SO pi0 nu_tau | sop [ Comparison of Mass(1) of K- pi in channel tau- => K-K_SOpi0nu_tau___| §pp
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‘Comparison of Mass(1) of K- K_SO pi0 nu_tau n channel tau- => K- K_SO pi0 nu_tau
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29 Decay Channd: 1~ — w10 10 TT' TT" Vg

Number of events fromgenerator 14034
Number of events fromenerator 24031 (scaled to generatorl)

[ comparison of Mass(1) of pi- pi- in channel tau- => pi-pi- pi-pi* pi+ nu_tau | sop [ comparison of Mass(1) of pi- pi-in channel tau- => pi-pi-pi- i+ pi+ nu_tau | sop
0 0
o 450 s 450
e 400 " 400
12 ;, 350 1:, 350
i 300 F 300
0sl- 250 o8E 250
o F 200 osf- 200
E E 150
oaf- igg “E 100
oz 50 02f 50
007 0‘2 0‘4 0‘5 D‘B ;‘l O 007 D‘Z U.‘4 0.6 D‘B ‘1 0
Comparoon of Mass(1) f p_piv i charmel @ > pr pi_pi pr pe @] SDP [ Comparisan o Mass(1) of pipi n channel @ => - i g o noaa | SDP
E ° 450 wf- 0
e 100 na 400
o 350 e ggg
£ 300 e
E 250 i 250
s 200 osf 200
o8 150 06 ;7 150
oeE 100 0al 100
0z 50 o2~ 50
07 ' ' - D‘Z : : : 0‘4 : - 6 ' ' ' D‘B ' ' ' ‘1 ' 0 0 ' - D.‘Z : : : 0.‘4 : : 0‘6 ' ' ' D.‘E ' ' ' ‘1 ' O
Compareon o W) ot et oo pp [ Comparson o Mass(t)of pi - nchamnel =i pi g v p- | SDP
0 0
E s 450
22 400 E
£ 350 o 400
18 ; E 350
woE 300 oE 300
M 250 oF 250
£ 200 b 200
08 ; 150 E 150
osE- 100 i3 100
04— 05
o2 50 g 50
% 0‘2 0‘4 D‘S D‘B ;‘1 o 007 0‘2 D.‘A 0.6 D‘B ; 0
Comparison of Mass(1) of pi- pi+ in channel tau- => pi- pi-pi- pi+ pi+ nu_tau | sop ([ Comparison of Mass(x) of pi pi* in channel tau- => pi- pi- pi-pi+ pit nu_tau | soP
2of 0 450 ssE 0 450
oF 400 SE 400
1 350 o 350
16— E
e 300 f 300
e 250 E 250
1 200 15— 200
osE- 150 £ 150
06— E
3 100 A 100
02f- 50 E 50
007 D‘Z 0‘4 ‘6 D‘Q 2‘[ O 007 D‘Z O‘A ‘5 0‘8 ; 0

55



o ot ass) o - mcharmer @i = prp p pr e ] Spp
Comparson o Vs o et = oo spp [Compars Woip

o £ ° o
22 E 350 = s
: 330 - 350
18 9 E
. 5250 i 300
- —200 osf 250
E é 150 06— igg
08 1 F
0.6 E 100 04 :7 100
o —50 0z 50
Dli ' B T a— ‘1 ‘7:0 og—— — 0.‘5 B ‘1 —0
Comparson of Mass(d) o - p+ n chanmel tau- = pr- i i i+ p | SDP [ Comparison o Mass) o _ta i channel i == i i i o it ] SDPo
g ° a0 3 350
3 400 £ T
e 350 g g
E 25 E
= 300 g =250
= 250 i3 =200
os 200 b 150
05t 150 £ 100
0.4 :7 100 C E
E 05 = 50
N3 | 20 F | [ o
o ‘_0‘2_‘_‘_‘_0‘1:_‘_; 0 ‘s’ B o‘a B 0 % 08 1
omparison of Mass(1) of pi+ pi in channel tau- => pi- pi- p- i+ pi* nu_tau__| [ Comparson of ass(t) of i u_tau i channel - = pi-pi-p- i+ piv | soP
C f Mass(1) hannel SDPO 5o - o :400
. I 400 E 350
18 5 350 e —300
16 a 0 300 1;7 7; 250
j : 0 250 o8- é 200
) nls 200 oo 150
» ( ) o ol 100
o8 100 F E
o P 02f- 250
02 . ‘ u 50 i E ; EX
% e L 0 o
Comparson of Wass0) of it channe v > - - e | SDP [ Comparson o Mass() o - i chanmel - > i - i1 v it
- O 400 380
" E n =300
: —350 > ]
. =300 e —250
e 7] 16 3
14 E 250 14 ,; 200
B 3200 s 150
<150 o8 ERS
oo <100 os o
B 0.4 =
0.4 { 50 o E
b 3 L ;
% u‘a ' ‘1 —0 % 1 0
Comparison of Mass(1) of pi-p-pi+ in channel au-=> pi- pi- pi- piv pi nu_tau | sop [ compaison of Mass(@) of pi- pi- i+ n channeltau- == pi- pi- p-pi pit nu_tau ] g:,po
0 350 - .
3 ] 3 o —300
o= Nl ~300 " Ty Ei
25 483 —|250 £ W H ]
g i ] E L 200
E f I —200 0sf- ( L 1
g E F L 150
s ] 150 osf- I 1
g F —L E 100 0e ; P —100
e by ; : l o
05— a 0 =50 0z j L 1
E s 7 | T T R B S |
oF o ;_‘_o‘f_‘_‘_o‘s_‘_‘;o‘s 0} ] I M R M 4 L o

56



Comparson of Mass(1) of i - nu_tau nchanneltau-=> prprprpie pre mutau | SDP. [ comparison of Mass(1) of pi- p-pit in channel tau-=> pi pi-pi-pi+ pit nu_tau | sop
S 0 | 3 2 5350
SE i -{300 E J‘ il =300
E 1 s . ]
N3 1250 g | ] 250
W =200 i3 i L —200
C | o [Hi |
15 -150 “E p 5 —150
£ <100 i (Uﬂwﬂﬁ ~100
ok N oo L 50
E 1 £ 1 B ]
o ' 0‘3 B ‘1 —0 L — uv‘z ;_‘_‘_0.‘4_‘_‘_‘_0‘6_‘_‘;0.‘3 B ‘1 —0
Compatn o Massl) - - i carret = e e s G0 [ Compatson ot Mass(y o - p o harest = - v o oo |G
£ Ol g 0 350
25— 4 = .|
g 3300 asf ol =300
as ~250 E A0 250
F B 2 {] E
of 200 3 f [ 200
F —150 B il H 150
F ~j100 T = T ! “100
S 50 osf / 1 “50
% Lo . R R
Comparon o assi) o e e e s = 5 g pe o | SO [ Comparon o assiy o p v o ranmeliaw - -5 o o | SDp
g o | 0 350
13 =300 5 ~300
25 E 18 3
i 250 o 1250
’r —200 14 =200
s 150 : —150
= 1 08 ]
3 ~100 o 100
o5t 50 04 -50
C 1 0.2 3
007 j‘l — O OO ; ;0
Comparion df Mass ey ol - o chant i > o e ias S0P [ Compason o ety p i+ canrel 15 v v oGP
E O o 0 350
b3 ) 3300 o =300
= i} 4 £ 3
s I 1250 2sE- —250
2 I 200 £ §
12
E f g o =200
1= ] C 3
i HHLJH‘T 150 of 150
osf- r 5 100 £ ~100
0af- f q El E E
0oE- ] i =0 o5t =50
R o
Comparison of Mass(1) of pi-p-pi+ in channel au-=> pi- pi- pi- piv pi nu_tau | sop [ Comparison of Mass(@) of pi - u_taw in chanmel au-=> pi-pi-pi- i+ p nu_tas
s 0 350 350
E | 2.2 J
E 4300 , 300
’ £ VJJ_L—‘ E 18 3
&3 I 5250 5 —250
£ | 0 1200 s —200
E ] 12 |
WE it 1150 : 150
1; ;"L,_I'I_H_l—“‘—\_j]:‘ é 100 2 : é 100
05 ; ’_|J:L Lﬁ —50 ° Z 450
C 4 ] o. 3
07 ' ' ' 0‘ 0.4 0.6 ‘LL 0‘ ' ' ' “1 ‘;0 00 ‘1 ‘;O

57



Compaton ol Mase) f . i i i ol s == i i i e e |[G3P ([ Compationofasst f - i i o s == g - i e e |G

F 0 | m 0 )
Lo 1300 3 L —300
16— ] F o, 5
b =250 F i =250
£ B 21— d 3
12 200 F | ] —200
f1== 3 15 o 3
0sf- L =150 F d —|150
E u ] E 1
oo ] q <100 83 ullhin <100
04~ L k| E r L ]
E 7 H =50 i L 50
o ' ' D‘Z 04 0.6 - 0‘3 - ' ‘1 ' ;0 07 ' - 0.2 0.4 06 —= ' o - ‘1 ' ;O
Comparson of Mass@) of p vt nchamet - => i i il o mtau | SDP [ Comparisonof Mass(t ot i i g+ inchamet = - i g ntas | SDP
0 0
e 5350 2 350
3 i =300 : “300
25 ;I" g *; 250 16 = 250
E I 3 3
i3 J - 1200 - Z200
wsE g g —j150 : =150
E = q 08 3
= A -j100 os —100
0sE- 4 L |50 o =50
% ‘70‘; 04 06 g0 O 10
Comparison of ass@) ofp- it chamel i > i - i o= e s | SDP [ Comparsan of ass() of -+ e channet > - i i e e | Spp
22 0 | 35 0 4
2 —300 £ =300
. 1250 b 250
o 5200 o 200
) 4150 " —150
0.8 | £ ]
- <100 i —1100
o 50 osk- S
0.2 | C |
%% 04 os 10 o 55 0
Comparson of Wass1) of g+ v e chammel i => g p-pis e vau | §pP [ Comprson of ass@) f p - i mchanmet - => - e i+ miiav | SDP
0 1 0 _350
22 —300 2 n 3
2 E 10 =300
s =250 . ]
N E =250
| 14 B
1 1200 12 =200
12 — J
, 4150 ) —150
o -j100 o 100
0.4 E 0.4 3
02 150 0 50
% u‘a ' ‘1 -0 % ‘z —0
Comparison of Mass(1) o p- pi- pi-p in channeltau- = pi-pi pi-pi pi+ nu_tau | sop [omparison of Mass(t)of - pr-pi- nu_tau in channel tau = pi-pr- pi-pi pi+ nu_tau
= 0 | 350
E 0 . 300
. nuﬂ —~300 . g
“F P 1250 o 250
E El 14 =
2 I = —200 12 1200
e g 4150 : Ea
= F E| 08 |
i s ] 100 0 100
s L T 30
AT 06 08 ~10 o gy —0

58



‘Comparison of Mass(1) of pi- pi- i+ pi+ in channel au- => pi- i- pi-pit pi* nu_tau | sop [ comparisonof Mass(s) o pi-p- i+ n._tau in hannel tau- => p- i pi i pr n_tau | sop

o asf 0 350
K 0 : “300
2 | 3= 3
16 —300 E »ﬂﬂ e
0 250 “E AT 320
14 7] C |
12 =200 i3 i L 1200
v <150 sE 150
0s <100 = 100
z:z I < o0
o L0 o 0
Compatson o Nas) 1 g i e o haral == i e oot |/ S0P [ Comparson of Nass(0 o - i et > i ip e e ias | SDP
0 0
F } 1 350 35 E— ] 7; 350
2.5;7 J:HL ESOO 3;7 it L—‘ é300
£ H H —;250 2 i L ézso
n ] L ~200 F JJ 1 —200
E *; 150 15 ;7 rF i =150
1= 4 |- |
E ~j100 = FrL <100
C ] E i L B
oSt 50 osf- P L 350
o o B e e N
ot () 1 i o ) > i e | sop [ Comparionof Massh o p i i chanet i = .- - g it ] sop
asf O 55| 0 350
i Ur:’ —5300 £ rﬂl 300
st L E 2sF 0 250
E —200 3 H 9 E
gooh : ; roob 2
15 7:150 15 i 0 *;150
1;— H’ LI"U_'-'_L\_J‘: ElOO 1;— FW—‘ *;100
osE- e o 50 o5k 1 i : 50
E i b ] E 3 L E
% n‘z ' 04 0.6 05 ‘1 -0 L m‘z g 0.6 I ; —0
Companeon of Mass() o e i 12 n chanmel - i i e e oo | sop [ Comparsonof Mass(t of i i i chamnl - = - i e o] SDP
0 0
o 3350 22 350
5 300 4 3
25 E D’L“ B 18 3 800
13 7 ~1250 1 —250
3 i ~1200 - =200
F g —150 ! 150
W N ] 08 E
: : <100 0s 100
osf- :! 250 o4 —50
C b | 02 3
o g0 10
Comparison of Mass(a) of pi- p- i+ .t i channel s = pi-p- i pie g hu_tau | sop [ comparisonof ass(s) o pi-p- i+ n.tau in hannel tau- => p- i pi i pr n_tau | sop
3 0 1 E 0 350
18 7:350 18 o) 5300
sof- i 1300 sof- il ]
E JJ i E E F =
UE i 250 3 -250
12— o | 12— =
I L_|—L|-L[j 7; 200 i 1 200
osi— r:‘j t é150 nai— élso
osE- F L -100 ooF =100
04— q ] 04 5
0ok J 0 —50 02F- —50
C = u | C = |
0 TR B _A_O“:_A_A_A_O‘E_A_A_A_O‘B;\ PRI 70 0 TR N A j_okL’_A_A_A_OAG_A_A_AT.IAFw - \1 ' 70

59



Corgmr et o 53 o aas 5 s me | Spp

2 o 9o o eoe e
S £ 5 & . K B &
RN RN RN RS LA RN RN RRARRR

Comparisor

n of

T T Py RS

0.2 0.4

Conparone ey 3 o s 5 o pe e |/ §DP

1

IS

1

s o o o
5 E o @ .~
T T T [T T T T T T

Compais

oo o o e = w o wm ] spp

°

pipi+ pi u_tau

Errrer—

° ° ° °
N = > ® -
LB L L L B R

350
300
250
200
150
100
50

450
400
350
300
250
200
150
100
50

500

400

300

200

100

500

400

300

200

100

4000
3500
3000
2500
2000
1500
1000
500

Comparison of Mass(1) o pi- pi* p+ Nu_tau i channel tau- => p- pi- pi-pi i+ nu_tau

16

14

12

o.

®

o.

>

o.

b

02

°

‘Comparkson of Mass(1) o pi- i pi-p u_tau i channel tau-

=> pi-pi pi-pi piv nu_tau

25

~
L B B R I

05

0

5

(oo oo - e e 5 e

60

14

12

0.8

o.

>

0.4

02

350
300
250
200
150
100
50

500

400

300

200

100

500

400

300

200

100

500

400

300

200

100



30 Decay Channel: T~ — K2KImT v,

Number of events fromgenerator 13739(scaled to generator2)
Number of events fromyenerator 23796

[ comparison of Mass(1) of K_S0 K_S0 in channe tau- => K_S0 K_S0 pi- nu_tau

] sop

E 0
b 600
3 -500
12f- ]

N —j400
08 ;7 7;300
3 1200
04 3
02l —100

% 02 o4 56 [ 0

o e K SO ey S K S som ] $pp
E 0 3
18 ;7 —500
16 ;
14 ; —400
12— ]

NS E 300
08 3 200
06~ ]

0.4 ;7 { 100
02— ]
T EVENTE Y SRR R )
T T T T T T
E 0
? E 1500
18 1
e ? -1400
L4 1
n2f 300
1;7 ]
o8- -1200
06 ;7 ]
04— -1100
0.2 ;7 1

% o2 a4 06 o8 0

T T T T e T T

221 0

= El

E —600

18- ]
16F- —500
1= ]
f —400

1? —300

08F- ]
06 ; *; 200
g 100
02 ]

% oz o4 a6 o8 0

([ Comparison of Mass(1) of K_S0 pi-in channel tau- => K S0 K_SO pi- nu_tau

] sop

0.8

06

0.4

02

0

0

500
400
300
200

100

S

02

04

06

[Comparson o assd) o 50 n el @ = K_S0 K507 o

] sop

24
22

»

1

o

1

>

1

S

1,

o.

®

o.

>

o.

b

9
T T T T I T
LA A LA L R LU LA L A

0.2
0

0

1200
1000
800
600
400
200

PRI R
02

0.4

06

08

[comw

arison of Mass(1) of pi- nu_tau in channel tau- => K_S0 K_SO pi- nu_tau

] sop

o o o [T
- I
LA LR AN LN RN LA RARN LA AR R

°
0

0

350
300
250
200
150
100
50

-~

02

0.4

06

Comparison o  Mass(1) of K_S0 K_SO nu_tau in channel

- => K_SOK_SO pi-nu_tau

| sop

61

038

06

0.4

0.2

0

600
500
400
300
200
100
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31 Decay Channel: T~ — 11 KK vq

Number of events fromaenerator 13701 (scaled to generator2)
Number of events fromenerator 23863
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